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WEST BENGAL STATE UNIVERSITY 
B.Sc. Programme 6th Semester Examination, 2021  

PHSGDSE04T-PHYSICS (DSE2) 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

 Question No. 1 is compulsory and answer any two from the rest  
১ নং pűিট আবিশ°ক এবং বািক �থেক �য-�কােনা dিট  pেűর উtর দাও  

1. Answer any fifteen questions from the following: 
িনmিলিখত েয-েকােনা পেনেরািট  pেűর উtর দাওঃ 

2×15 = 30

 (a) Define atomic mass unit. 
পারমাণিবক ভর একক সংjািয়ত কেরা। 

(b) Determine the approximate density of the nucleus. 
িনউিkয়ােসর আনুমািনক ঘনt িনণ�য় কেরা। 

(c) The radius of Ge is measured to be twice the radius of .4
9 eB From this 

information, find out the number of nucleons in Ge. 

Ge বয্াসাধ� 4
9 eB -এর বয্াসােধ�র িdgণ িহসােব পিরমাপ করা হয়। এই তথয্ েথেক Ge-এর মেধয্ 

কত িনউিkয়ন রেয়েছ িনণ�য় কেরা। 
  (d) What do you mean by charge independence of Nuclear force? 

িনউিkও বল আধান-িনরেপk বলেত িক েবােঝা ? 
(e) What are the Magic Numbers for both proton and neutron? 

িনউ¹ন ও েpাটেনর ময্ািজক সংখয্াgিল িক িক ? 
(f) Write the spontaneous alpha decay equation of 92

235U .  

92
235U  িনউিkয়াস েথেক আলফা কনার sতঃsত� িনগ�মন এর িবিkয়ািট েলেখা। 

(g) What is the essential difference between an electron and β-ray? 

একিট ইেলক¹ন এবং একিট  রিŲর মেধয্ pেয়াজনীয় পাথ�কয্ কী ? 
(h) Complete the following nuclear reaction: 

িনmিলিখত পারমাণিবক িবিkয়া সmূণ� কেরাঃ 
 6Li3 + ______→7Be4+ 1n0 
 35Cl17 + ______→32S16+ 4He2 
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  (i) Write down the Geiger-Nuttall law for -decay.

-িবঘটেনর েkেt Geiger-Nuttall সূtিট েলেখা। 
(j) What are the different processes by which gamma-ray can be absorbed in matter? 

গামারিŲ েকান জড় পদােথ�র মধয্ িদেয় যাবার সময় িক িক পdিতেত শিk kয় কের তা েলেখা। 
(k) Determine the threshold wavelength for pair production. 

যুগল উৎপাদেনর জনয্ pািnক তরñৈদঘ�য্ িনধ�ারণ কেরা। 
(l) Why Bethe-Bloch formula is not applicable in case of electron? 

ইেলক¹েনর েkেt Bethe-Bloch ফমু�লািট pেযাজয্ নয় েকন ? 
(m) What is Cerenkov angle? 

Cerenkov angle কােক বেল ? 
(n) Explain clearly what is meant by Q value of a nuclear reaction. 

িনউিkও িবিkয়ায় Q সংখয্ার মান বলেত িক েবােঝা বয্াখয্া কেরা। 
(o)  Calculate the distance of closest approach for an alpha particle with kinetic 

energy 5 MeV hitting a 79Au  nucleus. 

5 MeV গিতশিk সmn একিট আলফা কণা একিট 79Au  িনউিkয়ােসর সবেচেয় কােছ েয দূরt 
অিb েযেত সkম হেব তার মান িনণ�য় কেরা। 

(p) Name a reaction where parity is not conserved. Which class of interaction does 
this reaction belongs to? 
একিট িনউিkও িবিkয়ার নাম কেরা েযখােন সমতা বা parity রিkত হয় না। এিট েকান  ্  েËণীর 
অnগ�ত ? 

(q) What do you mean by Baryon number and Lepton number? 

Baryon সংখয্া ও Lepton সংখয্া বলেত িক েবােঝা ? 
(r) What do you mean by Strangeness quantum number? 

িবিচtতা েকায়াnাম সংখয্া বলেত িক েবােঝা ?  
(s) Write down the relationship between Isospin and charge of a nucleon. 

িনউিkওেনর আধান ও  Isospin-এর মেধয্ সmক�িট েলেখা। 
(t) Write down the quark composition of proton to explain its +1e charge. 

েpাটেনর েকায়াক� গঠন িলেখ তার সাহােযয্ েpাটেনর +1e  আধান বয্াখয্া কেরা। 
  

2.  (a) What is binding energy of a nucleon? How does the binding energy per nucleon 
vary with mass number of a nucleus? Sketch it. 

বnন শিk িক ? িনউিkয়ােসর বnন শিk, িনউিkয়ােসর ভর সংখয্ার সােথ পিরবিত�ত হয় তা অìন 
কেরা। 

2+2

(b) Write down the semi empirical mass formula and explain the significance of 
Coulomb energy term and the Surface term of this formula. 

Semi empirical mass formula িট েলেখা ও এর kলm শিk ও পৃŸ শিkর তাৎপয� েলেখা। 

2+2

(c) What is Nuclear Isomer? 

 িনউিkও আইেসামার িক ?                                                      
2
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3.  (a) Determine the ground-state spin parity of 8
17O on the basis of shell model. 

Shell বা েখালক Model অনুসাের 8
17O এই িনউিkয়ােসর েভৗম অবsার (ground state) িsন ও 

সমতা (Spin and Parity) িনণ�য় কেরা। 

3

(b) Explain the neutrino hypothesis in β-decay. 
β-decay এর েkেt িনউি¹েনা অনুমান (hypothesis) িট িবশেদ েলেখা। 

4

(c) What is meant by internal conversion? 
‘Internal conversion’ বলেত িক েবােঝা ?  

3

  
4.  (a) What is Compton Effect? 

কmটন িkয়া িক ? 
2

(b) The kinetic energy of photoelectrons range from zero to 19100.4 J when light 
of wavelength 300 nm falls on a metal surface. Determine the stopping potential 
and threshold wavelength. 
যখন 300 nm তরñৈদেঘ�য্র আেলা েকানও ধাতব-পৃেŸর উপের পেড়, তখন িনগ�ত 
েফােটা-ইেলক¹নgিলর গিতশিkর বয্ািp শূনয্ েথেক 19100.4 J অবিধ। Stopping potential 
এবং pািnক তরñৈদঘ�য্ িনধ�ারণ কেরা।  

3

(c) Explain what is meant by ‘cross-section’ of a nuclear reaction. 
িনউিkও িবিkয়ার psেcদ বলেত িক েবাঝায় বয্াখয্া কেরা।  

3

(d) What is the SI unit of cross section of nuclear reaction? Determine its relation 
with SI unit of length. 
িনউিkও িবিkয়ার cross section এর SI পdিতেত একক েলেখা ও SI পdিতেত �দেঘ�য্র একেকর 
সােথ এর সmক� িনণ�য় কেরা। 

2

  
5.  (a) For each of the following decays state the conservation law that forbids it: 

িনmিলিখত pিতিট িবঘটন েয সংরkণ আইন dারা িনিষd তা িববৃত কেরাঃ 
n → p + e− 
n → π+ + e− 
n → p + π− 
n → p + γ 

4

(b) Distinguish between Ionisation Chamber and Geiger-Muller Counter. 
Ionisation Chamber এবং Geiger-Muller Counter এর মেধয্ পাথ�কয্ কেরা।  

4

(c) What are the hypercharges of u and d quarks? 
u এবং d েকায়ােক�র হাইপারচাজ� িক িক ?   

2

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script. 
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